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Note: you have four choices for each objective type question as A, B, C and D. The choice -J,/C:J’)j;c,my
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 1 /,}J’/

(1) Along the period which one of the foliowing decreases: e [Bx&;’dufa.uﬁ U4 ;,.g (1)
(A) Atomic radius (44 ¢! (B) lonization energy SR HET
(C) Electron affinity ﬁu;}?i (D) Electronegativity é’, :‘c'c;}al

(2) A bond formed between two non-metals is expected to be: Kng»"ﬁfcwbéﬁ_uyuiy"f ) (2)
(A) Covalent bond 4wsks (B) lonic bond k1 £¥T
(C) Co-ordinate covalent bond ekl s/ (D) Metallic bond 4l

(3) Triple covalent bond involves how many electrons? Ut 2 wi O el ) (3)
(A) Eight #7 (B)Six # (C) Four s (D) Only three uf_:'/

(4) The vapour pressure of a liquid increases with the: ‘?c‘-l“/"/..,f ﬁ/ /_‘,«.)Kd/l. (4)
(A) Increase of pressure < & sIU% 2y (B) Increase of temperature TS ¥

(C) Increase of intermoleculor forces < &Iz /'/J;’)zgt. ¥
(D) Increase of polarity of molecules « & WIUA, Agd/ﬂggt

(5) Which one of the following is not soluble in water? senofdbale ity ()
(A) KCY (B) Na,CO; (C) CuSO, (D) Ether A1
(6) An aqueous solution is formed when -L@JJ’&&:@Q?&&;J I (aqueous solution) J}U';g l 6)
a substance is dissolved in:
(A) Benzene (Ay/ < (B) Ether Al (C) Water Jidg (D) Carbon tetrachloride uﬁi’l,,ﬁ‘/f@,{
(7) The formula of Rust is: PRV S S )
(A) FeyOy-nHy0 (B) Fe(OH), - nH,0  (C) Fe,0s (D) Fe(OH),
(8) The oxidation number of oxygen in per-oxides is: e b3Sy A TKpﬁ"J 7 (8)
(A) 0 (B) -1 C) -2 (D) -3
(9) Which one of the following metals burns with s FALES Gyl ltmSsledo )
brick red flame in air?
(A) Sodium (£3» (B) Magnessium e.\.uua.{u (C) fron usT (D) Calcium 2.
(10) Which one of the following molecule is not tri-atomic? *?q..u:’Uz? WSl e (10)
(A) H, (B) O (€ H,0 0) COo,
(11) Which one of the following consists of three sub shells? ‘-‘qfalﬂ)-{/ufuﬁu/ et ity (1)
(A) Oshell £ 0 B)Nshel EN  (C)Lshel KL (D) M shell < M
(12) 4th and 5th period of the long form of -ujZ-lk'@/:vu’f Ll "):uff uﬁ)’JJ':JSL/,%JT(JGﬁ (12)

periodic table are called:
(A) Short periods 4 &L (B) Normal periods 4 At
(C) Long periods 4 4t (D) Very long periods A
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NOTE: Write same question number -a.Zwuffz../J‘r.@’c‘:(@n/’:'/ul//d‘fd;/?dnKQU? ey
and lts part number on answer book, as given in the question paper.
SECTION-I Js.2

2. Attempt any five parts. 10=2x5 -ixfuwﬁfﬂ@adf _24 )y
(0 Define physical properties. Write the names of two u"?téuuﬁd‘guﬂuﬁ.ﬂ/’juuﬁd‘b (i)
physical properties.
(i) Write chemical formulae of:  Washing soda, Caustic soda v ¥ - Bl u‘“’dé._wbdt/ (ii)
(i) Define monoatomic molecule with one example. -J/;JVJJ/JJ,QLJL*I// (iii)
(iv)  Wirite electronic configuration of (¢~ in its subshells. -J//Z’J/J/Oiu*)’wtfw ci (iv)
(v) Write electronic configuration of suipher and chiorine u“’du*)’wgulu"ﬂj/a JJ/}‘{J}’/J/ (v)
in their subsheils.
(viy  What is the trend of atomic radius in groups? e JUV/KL/*/JWU'L/’/ (vi)
(vii)  Whatis periodic law? Who arranged it? "bw/a,ﬂw °<:..L/ pu.ﬁ/ (vii)
(viiiy  Give the trend of ionization energy in a period. "c.'r'/u@ /KJ/’J/V ks (vil)
3. Attempt any five parts. 10=2x5 -Z//uuyzi /”l(itc,df 23
0 What is meant by Hydrogen bonding? °C-)/U/¢‘—JHJJML )
(ii) Define ionic bond and give its one example. f.)JV»f’A’éJ /‘JL/(HJ/‘ (i)
(i)  What type of covalent bond is formed in nitrogen molecule? S L.)JK()L/JJJL[.J;/L (ii)
(iv)  What is meant by absolute zero? < el gy gadgun) (V)
(v}  Explain the process of condensation. _éyw;b(fﬁc)ﬂwlﬁ (v)
(viy  Define solution and also give an example. ~§T:)UDUU"*~QA’§:(~?/‘UJ’L” (vi)
(vii)  Define Brine. | _Ew S i
(vii)  What is meant by percentage v:/::;nse ? Give an example. &= e ?ﬁ—i’/lfc— Lj: 5‘2 (viii)
4. Attempt any five parts. 10=2x5 _éf/f._«tliﬁ!]’étc_,d/ 4y
H=+1and O=-2 _LunditusFssT u,f mufmt,éu/()’*/w/ T8 s ALt HNO;y (i)
(i) Find oxidation number of nitrogen in  HNO; when the oxidation numbers of H = +1 and 0O=-2
(i) What is meant by weak electrolytes? Give two examples. -3 uJVn "c_)/b(;,u‘"u:/cm/ (ii)
(i) What is tin coating? Write its advantage. Y411 194 VC—)/JLJ/J (iif)
(iv)  What is the principle of electroplating? °<—VU!“(-5“&J/“’ (iv)
(v)  Write the names of any four very reactive metals. u‘”’J(LL /"”rc'u’/w’/ LU & V)
(vi)  What are transition metais? Give an example. S fl S ,t/u’;)ﬁfﬂ/ (vi)
(vii)  Give the trend of non-metallic character in a group and a period <’¢.L@L¢M../f’_ﬂ«uwu/m.d/ (vii)
{(vii)  How does chlorine react with methane in the presence of -J/uL‘u'(Um’L/f_ u“’w&j»{u" Ju(uufw (viii)

diffused sunlight?
SECTION-ll /1.2

NOTE: Attempt any two questions. 18=9x2 _gégfayzaigmmcd/ oy
5.(A) What were the defects in Rutherford's Model 5 SeslgetirUe SBuE S LN i (-5
and also write the questions initiated by these defects?
(B) Define empirical formula 4 -J/».,}mevmbdé/fi J;:’Tm.‘,}&:};;!uj//.ay/jgfunﬁﬁ,c{f (o)
and explain empirical formula for covalent and ionic compounds.
6.(A) Define and explain Metallic bond. 5 -J/Juwlw/‘:&utjw ()-8
(B) State and explain mathematically Charles' law. 4 _J/JL;:JJ = 3 g S sE Ku)/la )
7.(A) Describe oxidation and reduction in terms 5 -c{.»Lo:g,(u“iw!JJ’:.LVLJ%;IUJ!LUJ/Q (AN.7

of ioss or gain of electron. ' ( . L
4 -c-—|!“” %/ ’&)/ju(f}’ul?rb@;bjﬁ/ 90cm® jfuu"dtu;ﬂl Sem” Ji (. .)

5 of acetone in water to prepare 90cm® of aqueous solution. Calculate the

(B) Ifwe add 5cm
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Note: you have four choices for each objective type question as A, B, C and D. The choice -qf;;}’ﬂ;:.-—wr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 -1 Ay
(1) Chlorine atom has electrons in the valence shell. -c‘-%h}gl - ufg,té "-;'c’_l,;:u/,f 1)
(A) 1 (B) 2 (C) 5 (D) 7
(2) A bond formed between metal atoms due to bl e b SRSl Al (@)
mobile or free electrons is defined as:
(A) Polar /% (B) Metallic M (C) Non-polar /¢t (D) lonic £¥T
(3) Polar liquids have vapour pressure than -..f‘_t'xza./"t.g_:—.:ﬁél./‘,;’uL‘ﬂ{,;.;(él./{_’{/.f-y;}dwg (3)
non-polar liquids at the same temperature:
(A) Greater (B) Low ¢ (C) Equal Lz (D) Dynamic &5
(4) A solution containing maximum amount of solute -‘c_b‘llf rxd’/lﬁfupc;upgfg»!q /,‘-/;UGL{ LS T (4)
at a given temperature is called:
(A) Solvent s (B) Unsaturated %40l (C) Saturated 2§ (D) Dilute 22
(5) The number of moles of solute dissolved in one dm? -98&( «anJJ’uﬁ'J)’*J}f&fvgﬁ:’ﬁtﬁff—-‘df:’ (5

of the solution is difined as:
(A) Density =30’ (B) Molarity (5 27 (C) Percentage &¢ (D) Dilution I
(6) The addition of hydrogen or removal of oxygen A AL S ngr"ﬁgf»i'wlwﬁdig s (6)

during a chemical reaction is defined as:

(A) Oxidation /=477 (B) Reduction "%, (C) Electricity G129 (D) Electrolyte w5

(7) The oxidation number of all elements in free state is: -g.tn/u:g,‘ngu%"%rv“uﬁ:)wJT 7
(A) Zero s/J (B) +1 (C) -1 (D) -2

(8) Itis least reactive metal: -g.d’:}{!d;ﬂ,do/., (8)
(A) Potassium (ﬁ‘g (B) Calcium (:")f (C) Magnesium ,5ui&s. (D) Copper il

(9) The chemical properties depend upon the composition of the: -‘at‘n4~_.'.«.’/.7k,(_____ /uf'm:,y/éx_,{ 9
(A) Matter »l (B) Atom f:' (C) Substance & (D) Mixture ﬁf

(10) Rutherford observed the effects of particles on a photographic plate: -t‘(b?&‘{&‘;’L%jk{%»ﬁ'ﬁ}i—jl}})} (10)
(A) Gold 4y (B) Gold foil Sist¥”  (C)Alpha U (D) Helium (£

(11) The number of groups in periodic table are: -q.:fﬁJuﬁ’/uﬁJ"iﬁw (11)
(A) 2 B) 7 () 18 (D) 32

(12) Long form of periodic table is constructed on the basis of: _.7_;9@.'—‘;(5&5_57(/6.@ (12)

(A) Atomic mass Lt ! (B) Mass number £t (C) Atomic number £t (D) Groups Wt
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and its part number on answer book, as given in the question paper.

SECTION-l sl.=

2. Attempt any five parts. 10=2x5 -;é;/&gm&rzségaéf -2/.0‘/
) Define Avogadro's number. -gf;..:y /7 J /):Jﬂgl (i)
(?Q What is atomic mass unit? Write its value in grams. _qﬁq.w:" 19 ur'f JJ{ ?ugé';féﬁgu’hhf ¢ (ii)
(§)*  How molecular formula is derived from empirical formula? e b i R v (i)
v  What is the difference between shell and subshell? Give example. S Je ?‘aﬁf'&(f:t}if’ﬂ'ﬁ (iv)
() Write the electronic configuration of chlorine Clyqin -Jﬁ/@;{ 2O o Clyg oL v)
different subshells.
(vi)  The size of the atom decreases in a period from left to right, why? s :uf/fx;uf’gc‘-_lm[y’vf#uf}; v (vi)
(vii  Why does ionization energy of elements decrease from e &nu[ {écg;!&)tﬁy’cﬁﬂf '“"Ul_(}f (vii)
top to bottom in a group?
(Jjiy~ How many groups and periods are there in modern periodic table? stk A PSS gl (i)
3. Attempt any five parts. 10=2x5 -égf"aw&még;é/ J/,‘U'r
(i) Define chemical bond with an example. -é;d‘Umﬂﬂ»g&é iJﬁgJé’f (i)
(i)  Whyis BF; electrons deficient? ?‘awf of Gt BE (i)
1(iil) Define intermolecular forces and also give an example. ..{:)u’(dif»..,@;!g{ - /"'u( '//;’/ggr/«‘l (iii)
liy- Convert 750°C to Kelvin temperature(K). ' UL A K /}/fu):g( 750°C (iv)
(v{  Define vapour pressure. -g::/ - /U Al (V)
(W~ Define solubility. -gi__ag }U @%’r (vi)
luiy - What is meant by Y2umC o 7 vc‘,,ygc,( %~ ) %2 (i
volume \4 L1
(vii) Why is a solution considered as a mixture? e blggf/k*uzf/ /igfﬂ" (viii)
4. Attempt any five parts. 10=2x5 -é{f@@'ﬁé’i'é&cé[ -4/,‘1)1}’
) What is redox reaction? - Lt 0)
@) What is electrochemical cell? 5‘4-&:0‘1)%‘{5}'? I (ii)

He=xl 5 0==2 - gtAdal Ll Uy PP AR Mt HNO; (i)

() Find oxidation number of nitrogen in HNOswhen oxidation numberof O = -2 and H = +1

(i\){/ WhyCH,COOH isa weak electrolyte? S‘:‘_ux.‘/ .:fu;/"?u,/ uﬁ CH,COOH (iv)
(\N/ Write two chemical properties of metals. -u'f‘Jc,“Lor"’Jl//.»J#" (v)
(viy  What is the relationship between electropositivity and ionization energy? -q/ug&"j K&}lcﬁ'/’ TANA ;”.:J,;’:f'gi (vi)
(viiy  Write any four properties of platinium. - /uy.;,y/}gu‘ J}L( ffu,; (vii)
(viiii  Define Transition metals. - /...53 j"J/Q” cfgi!} (viit)
SECTION-I 5.2
NOTE: Attempt any two questions. 18=9x 2 -é;f@gméw’maél Oy
% Write down the results of Rutherford's experiment. 5 <“£“/fnél;'£4_, /.;LL;’M (-5
(B) Write four differences between compound and mixture. 4 -égf?}/'/gui ;,’S;Iﬁﬂf Gt
6.(A) Define covalent bond and explain its types. 5 -q/yu,JrLSiJumu/,g}Jﬁ:g.w:,/ (-6
(B) State Charles law and give its mathematical explanation. 4 -q/yu,Qquuu/uwiwwg i)

7.(A) Define electroplating and explain the electroplating of silver. 5 -u:/yu:(,( .ﬁ»%;}?!&hu/bg/%’ Gk 20 (LID-7
DY VAfima rmamlaridg and darivas farmiiia o 4 «L}’/(}'U//UA'LLL?J}L//}”J}‘Q:/J}J&A}/ (".">
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